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SEXX Jlgtsts
S8 M= (SH9 H2)
A= 2N - BB S9(S) - HISAY - BES il v ol H o CImE==
SEAX = 62,934,185 31,034,175 31,900,010
= 400,000 0 400,000
= 800,000 800,000 0
= 97,000 0 97,000
< 799,000 799,000 0
Al 60,838, 185 29,435,175 31,408,010
S 268,3%4 171,344 97,010
= 97,000 0 97,000
Al 171,3%4 171,344 10
SETR Jlgtets 91,260 46,260 45,000
£ 45,000 0 45,000
Al 46,260 46,260 0
SEXX MEHA 91,260 46,260 45,000
= 45,000 0 45,000
Al 46,260 46,260 0
RS Sedst 57,020 12,020 45,000
= 45,000 0 45,000
Al 12,020 12,020 0
202 Ot 44,000 2,000 42,000
£ 42,000 0 42,000
Al 2,000 2,000 0
04 =XISH0IH] 42,000 0 42,000
ORMEAl ZAT A SAMTK| At
1,500,000& 282 42,000 0 42,000
£ 42,000 0 42,000
303 =A== 6,000 3,000 3,000
£ 3,000 0 3,000
Al 3,000 3,000 0
01 Z&2 6,000 3,000 3,000
OTHsdl 224 & 28 Za

Z& 6,000,000& *14] 6,000 3,000 3,000
= 3,000 0 3,000
Al 3,000 3,000 0
SIALED RN 29 146,500 94,500 52,000
=] 52,000 0 52,000
Al 94,500 94,500 0
MEINESIE DN 146,500 4,500 52,000
= 52,000 0 52,000
Al 94,500 94,500 0
DA RH Edst 146,500 94,500 52,000
s 52,000 0 52,000
Al 94,500 94,500 0
301 LEIENES 129,000 77,000 52,000




Al SEMX=AIH A SERXIL
3 ISAEEIIRN 29
Gl DAL IS EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro ol E o timE=FT
s 52,000 0 52,000
Al 77,000 77,000 0
14 IIEt2 8= 129,000 77,000 52,000
OLEANIIFS EellE 7Y
& 430,000,0002 *30f% 129,000 77,000 52,000
= 52,000 0 52,000
Al 77,000 77,000 0
WRES(SERA L) 10 0 10
SN E(SEXNXRZ) 10 0 10
SENUXRE =kH2xz gre 10 0 10
802 grat= DI E 10 0 10
02 Al - SHIEZ=ZBHEZ 10 0 10
O20238 ZESENXE 438 g=209
2 ZZ3 A OIXFBHE
1,4702 %14 2 0 2
020238 2ASEENXE Lell0IZ Kl X
2 A Ol Xier 7,800& *14] 8 0 8
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A= SEXUXIFAE A gEEF
M NHe mged dEdst
Rl NS 28 A (SH9 H2)
A= 2N - BB S9(S) - HISAY - BES il v ol H o CImE==
SotE =1t 21,022,392 16,019,392 5,003,000
< 399,000 399,000 0
Al 20,623,392 15,620,392 5,003,000
ANEo mEHYUd Agtdst 20,985,400 15,982,400 5,003,000
< 399,000 399,000 0
Al 20,586,400 15,583,400 5,003,000
NS ad LA 20,985,400 15,982,400 5,003,000
[ 399,000 399,000 0
Al 20,586,400 15,583,400 5,003,000
SPEF =AY 23| 36,600 33,600 3,000
201 er23 | 18,000 15,000 3,000
2 s5=4g4l 6,000 3,000 3,000
Ot 7=l
3 450,000&+122 5,400 3,000 2,400
Ogxtxtg FXAl2elll 100,000& 62 600 0 600
S EAHEHA &4 15,415,000 10,415,000 5,000,000
401 AlZBIL S THYI 15,000,000 10,000,000 5,000,000
01 Al&ZHI 15,000,000 10,000,000 5,000,000
OdlEHEEX =4
Z& 15,000,000,000& * 14 15,000,000 10,000,000 5,000,000
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A= SEIXIFEE SAITSFEY
g PHIEH DNSHA F=
SR TS HNIAHISE ALY A2 &5 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro ol E o timE=FT
ITS=& 1t 41,643,439 14,843,439 26,800,000
= 400,000 0 400,000
z 800,000 800,000 0
< 400,000 400,000 0
Al 40,043,439 13,643,439 26,400,000
AT wSHA 7= 41,563,663 14,763,663 26,800,000
= 400,000 0 400,000
z 800,000 800,000 0
< 400,000 400,000 0
Al 39,963,663 13,563,663 26,400,000
ITS HIHSE BAME AL &5 36,006,000 10,006,000 26,000,000
ITS NIHIEE CHEloZ A 36,000,000 10,000, 000 26,000,000
401 AlEBIYL LY 36,000,000 10,000,000 26,000,000
01 AlZHI 33,000,000 7,000,000 26,000,000
OITS HIAHIES Ualol& HEAIY
4 & 33,000,000,0002 *14] 33,000,000 7,000,000 26,000,000
ANsd nsSHA 2= 1,586,197 1,586,197 0
Ol SSEME 2HE 1,586,197 1,586,197 0
401 AlEHIZL 20 1,586,197 1,586,197 0
01 AlZHI 1,186,197 1,486,197 300,000
ODIcHuS=SEHE ASAMS(SEE 2)
Z& 1,186,197,000& x 14 1,186,197 1,486,197 A300,000
02 Zeld| 400,000 100,000 300,000
OllinS=edH ABAML(SZE B)
& 400,000,000 *14] 400,000 100,000 300,000
A=A AIH2HXP AHIA X2A 800,000 0 800,000
= 400,000 0 400,000
Al 400,000 0 400,000
A UEF8 HA A2 800,000 0 800,000
= 400,000 0 400,000
Al 400,000 0 400,000
307 2Ito1H 24,600 0 24,600
= 12,300 0 12,300
Al 12,300 0 12,300
09 2s-gAE2LS 24,600 0 24,600
OXts=8 DtadA 24
24,600,000& *141%100% 24,600 0 24,600
= 12,300 0 12,300
Al 12,300 0 12,300
402 RIZHAHZ01H 775,400 0 775,400
= 387,700 0 387,700
Al 387,700 0 387,700
02 QI TH2AILEE (01X THE) 775,400 0 775,400
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